N = 0l & At & Ml A

HE . E(BA) - NRAY - BYS 0] &b 2 p/E-T HDE2
dsg 1,961,266 1,957,793 3,473
b= otd 300,000 1,400,000 A 1,100,000

22 (8L EIIZ) 300,000 1,400,000 A 1,100,000
sZLHII=3 29 300,000 1,400,000 A 1,100,000
501 84t= 300,000 1,400,000 21,100,000
02 Sst=s8lIds8lta 300,000 1,400,000 A 1,100,000

O 3-a=2=PIEg=PNI=

Z & 300,000,000& = 1A 300,000 1,400,000 A 1,100,000

S(SE=) 1,661,266 557,793 1,103,473
NE(=s2HIIZ) 1,661,266 557,793 1,103,473
QLHII=S 28 1,661,266 557,793 1,103,473
602 Ol Xl = 1,661,266 557,793 1,103,473
01 0IxI= 1,661,266 557,793 1,103,473
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